
 

 

 

 

 

 

cg';"lr #s 

e"lds/sf] b//]6 

qm+= 

;++ 

  
ljj/0f 

  

d"No /  sfod ug{] b/ 

  

hUufsf] 

lsl;d 

e"lds/sf] 

b/ k|lt 

s6\7f ?= 

hUufsf] 

lsl;d 

e"lds/sf] 

b/ k|lt 

s6\7f ?= 

hUufsf] 

lsl;d 

e"lds/sf] 

b/ k|lt 

s6\7f ?= 

 1 nf]sdfu{  df]x8f kg{] 

sfnf] kq] 

38]/L hUuf 550 
u|fe]n÷ sRrL    

38]/L hUuf   v]ltof]Uo 50 

 2 nf]sdfu{   ahf/ If]q -@)) ld6/ ;Dd_ 

sfnf] kq] 

38]/L hUuf 350 
u|fe]n÷ sRrL    

38]/L hUuf 250 v]ltof]Uo 40 

 3 nf]sdfu{sf] @)) b]lv %)) ld6/ ;Dd 

sfnf] kq] 

38]/L hUuf 250 
u|fe]n÷ sRrL    

38]/L hUuf 200 v]ltof]Uo 30 

 4 
nf]s dfu{ ;Fu hf]l8Psf #) k"m6 df]x8f ePsf  

nf]s dfu{ b]lv %)) ld=eGbf 6f9f 

sfnf] kq] 

38]/L hUuf 200 
u|fe]n÷ sRrL    

38]/L hUuf 100 v]ltof]Uo 20 

 5 
cGo  nf]s dfu{  ;+u hf]l8Psf @) km"6 df]x8f 

ePsf nf]s dfu{ b]lv %))   ld= eGbf 6f9f 

sfnf] kq] 

38]/L hUuf 200 
u|fe]n÷ sRrL    

38]/L hUuf 100 v]ltof]Uo 20 

 6 d]h/ ;8s 

sfnf] kq] 

38]/L hUuf 250 
u|fe]n÷ sRrL    

38]/L hUuf 200 v]ltof]Uo 20 

 7 d'lu{of –n'lDagL ;8s df]x8f %)) ld=;Dd 

sfnf] kq] 

38]/L hUuf 300 
u|fe]n÷ sRrL    

38]/L hUuf   v]ltof]Uo 20 

 8 
d'lu{of –n'lDagL ;8s df]x8f %))–!))) 

ld=;Dd 

sfnf] kq] 

38]/L hUuf 200 
u|fe]n÷ sRrL    

38]/L hUuf 150 v]ltof]Uo 20 

 9 
d'lu{of –n'lDagL ;8s df]x8f !))) ld=b]lv 

6f9f 

sfnf] kq] 

38]/L hUuf 180 
u|fe]n÷ sRrL    

38]/L hUuf 130 v]ltof]Uo 20 

 10 snf}gL –n'lDagL ;8s df]x8f %)) ld=;Dd 

sfnf] kq] 

38]/L hUuf 300 
u|fe]n÷ sRrL    

38]/L hUuf   v]ltof]Uo 20 

 11 
snf}gL –n'lDagL ;8s df]x8f %))–!))) 

ld=;Dd 

sfnf] kq] 

38]/L hUuf 200 
u|fe]n÷ sRrL    

38]/L hUuf   v]ltof]Uo 20 

 12 
snf}gL –n'lDagL ;8s df]x8f !))) ld=b]lv 

6f9f 

sfnf] kq] 

38]/L hUuf 180 
u|fe]n÷ sRrL    

38]/L hUuf 130 v]ltof]Uo 20 

 13 ;fnem08L –9f]/kf6g ;8s %)) ld= ;Dd 

sfnf] kq] 

38]/L hUuf 500 
u|fe]n÷ sRrL    

38]/L hUuf   v]ltof]Uo 20 

 14 ;fnem08L –9f]/kf6g ;8s df]x8f %))–!))) 

sfnf] kq] 

38]/L hUuf 350 
u|fe]n÷ sRrL    

38]/L hUuf   v]ltof]Uo 20 

 15 
;fnem08L –9f]/kf6g ;8s df]x8f !))) b]lv 

6f9f 

sfnf] kq] 

38]/L hUuf 200 
u|fe]n÷ sRrL    

38]/L hUuf   v]ltof]Uo 20 

 16 ;}gfd}gf l/Ë/f]8 df]x8f %)) ld= eGbf 6f9f 

sfnf] kq] 

38]/L hUuf 200 
u|fe]n÷ sRrL    

38]/L hUuf 100 v]ltof]Uo 20 

 17 
cGo leqL ;8s nf]s dfu{ b]lv !))) ld= eGbf 

6f9f 

sfnf] kq] 

38]/L hUuf 200 
u|fe]n÷ sRrL    

38]/L hUuf 100 v]ltof]Uo 20 

 

gf]6 M  -s_ ;DklQ s/ nfUg] 3/hUuf geO{ s;}sf] gfddf e"lds/ nfUg] hUuf dfq ePdf ?= %) 

;Ddsf] s/nfO{ Go"gtd dfgL e"lds/ nufOg]5 . 

-v_ ;DklQ s/ nfUg] ;DklQ / hUufdf ;DklQ s/nfO{ Go"gtd dfgL ;DklQ s/ nfUg] 

jfx]ssf hUufdf dfly tf]lsP adf]lhdsf]] e"lds/ nufOg]5 . 

 



 


